Serxuwal reproduction in plants in- Plants .can grow in different w.ays, Animal reproduction irw.olves

~volves the transfer of pollen from ) ling from e, , [ the joining of 4 o coll
one flower to another, wsuwally by cuttings. Seeds contain a ting, un- (sperm) and a female cell (egg)
wind, insects, .or other .animals, deweloped plant and grow mhen to form a fertilized egg, mhich
leading to the production of seeds. | in soil with w.ater light grows into a new individual.
These seeds grow into new plants. [ trionts. B ,cuz’ or- ’ Some animals, like fish .and .am-
Asexual reproduction allows plants ground storage struchires thal phibians, lay many eqgs in o
to duce identical offspring mith- ] _ _ ter, while others, like mammals,
o g ow into new plants. Cuttings in- . . :
out seeds, such s through runners 9" ) . ' . Give birth to fewer offspring
( /s,tr,,b.er' ) ( _ wolve taking a piece of on existing and care for them uwntil they .re
'2’"9" oW ',r,u@s , bulbs (e.g., ar: plant, such as a stem or leaf, and able to swwvive on their owan.
ions), or cuttings. ting it to grow a Lant.
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Insects often have o complete metamorphosis with four stag-
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' .' il,c;l.rw 29(9’5' often in M‘a‘m&")’ Af”_ e es: egg, larva (such as a caterpillar), pupa (such as a
hatch into larvae (such as tadpoles). These , , .
larvae undergo metamorphosis, g T chrysalis), and oadult (Mmabubterﬂg). Some W, Like
deweloping legs, | , | o ult feoo- grosshoppers, .go through incomplete metamorphosis with

three stages: egq, nymph, .and .adult.

tures .as they transition to living .on land.



